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100kN/m’ % #8% B X 13 100kN/m’% 8% 5 X i3
NDKES| tRZE | AOKES| TRAZ | ADKES| ITRZE | AOAES| TRE NADKES| tEZ | AOKES| TRZ | ADKES| ITRZE | AOAES| TRE
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[DEA0)) [DEA0)) [DEA0)) [DEA0)) [DEA0)) [DEA0)) [DEA0)) [DEA0))
(Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m)
1 2 134.6 1.0 100.0 1.0 = = 13.2 2.6
2 3 134.6 1.0 100.0 1.0 = = 13.2 2.6
3 4 = = 100.0 1.0 = = 15.2 3.0
4 5 = = 100.0 1.0 = = 15.2 3.0
5 6 120.1 1.0 100.0 1.0 = - 13.7 2.7
6 7 120.1 1.0 100.0 1.0 = - 12.3 2.5
7 8 = - = - = - = -
8 9 133.8 1.0 100.0 1.0 = = 12.4 2.5
9 10 133.8 1.0 100.0 1.0 = - 12.4 2.5
10 11 125.1 1.0 100.0 1.0 = - 11.5 2.3
11 12 121.7 1.0 100.0 1.0 = - 11.4 2.3
12 13 113.7 1.0 100.0 1.0 = - 10.9 2.2
13 14 113.7 1.0 100.0 1.0 = = 10.9 2.2
14 15 129.3 1.0 100.0 1.0 = = 11.2 2.2
15 16 132.3 1.0 100.0 1.0 = = 11.8 2.4
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